18CV71

Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.
~"Module-1

1 What is an estimate? Explain briefly purpose and different types of estimates (any three).
; (20 Marks)

‘ OR :
2 The details of two room building are shown in the Fig.Q2. Estimate quantities and cost of
the following items of work:
(i) Earthwork excavation foundation at Rs 380/m
(i) Bed concrete 1 :4 : 8 for foundation at Rs.2600/m’
(ii1) S.S.M. for foundation and basemem at Rs.3600/m’
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
il

Fig.Q2 (20 Marks)
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Module-2
The details of septic tank are shown in Fig.Q3. Estimate the quantities of following items
and cost. (20 Marks)
(i) Earthwork excavation at Rs. 400/m’
(ii) PCC 1:3 : 6 for bed at Rs. 2500/m’
(iii) BBM in CM 1 : 4 at Rs. 2200/m’ ,
(iv) R.C.C. 1 : 2 : 4 roofslab cover at Rs. 3000/m’
(v) 12mm cement plaster for sidewalls at Rs. 200/m*
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OR

Prepare a detailed estimate for earthwork for a portion of road from the following data:

Dist. 0 | 100 [ 200 |-300 | 400 | 500 [ 600 | 700 | 800 | 900 | 1000 | 1100 | 1200
inm
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Gradient | Upward gradient 1 in 200 Downward gradient 1 in 400

Formation width of road 1s-10m. Side slope 2:1 in banking and 1% : 1 in cutting. Calculate
also the cost of this earthwork in banking and cutting; the rates are Rs. 275/m® and
Rs. 350/m’. Adopt Mid-Sectional area method. (20 Marks)

Module-3
Write detailed specification for following :
(1) Earthwork excavation for foundation
(11) Damp proof course 2.5¢cm (1")C.C. 1: 1% :3
(111) Burnt brick masonry for superstructure in CM 1:6
(iv) R.C.C..1:2 :4 for roof slab. (20 Marks)
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OR

Analyse rates from first principle for following :

(i) Cement concrete | : 5 : 10 in foundation.

(i) I* class brick work in super structure with CM l 6

(iii) Coursed Rubber stone masonry in CM 1:6 for super structure.
(iv) 12 mm thick internal plastering in CM 1:6 for brick walls.

Module-4
What is tender? Explain the departmental procedure of tendering ¢1vil works.

OR

What are the different types of contracts? Explain any:four types of contracts.

Module-5
Write a short notes on :
Mobilization and equipment advance
Secured advance
Liquidated damages and bonus
Dispute resolution mechanism
Performance security.

OR
What is valuation? Explain briefly methods of valuation of buildings.
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